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RI7 R29Y2 RSO ROUR OR7T NIV ONIN NoOND NP RN — On what
are you relying, on this “uw; this 2w is merely a potsherd

Overview

In the case at hand, the P12 initially claimed that he has a "vw (which could
have been opn). The w7yn argued that it is a 71 W, In response the
P> 1 admitted that it is a 7 WW; however he lost his original valid “ow.
127 ruled that the prm» has a 1 for he need not have admitted that it is a
7111 Tuw. However 701 17 disagreed and argued that the "vw which you are
relying on is a 771 0W. Seemingly 701 17 is not responding to s'7127
argument that the 2wwn %va has a wn. This Mmoo will offer three
explanations why the 13°n is not effective.

mooIn has a question (on the response of 701 27):
o177 on— It is perplexing! For the quwn 5va should be believed -
AR Y3 ORT Wn2 — with a 1as»; for he could have claimed —

N7 ROYR NWWw — it is a valid "ww. If the bearer of the 7ww would not have
admitted that it is indeed a false 0w, but would have rather maintained that it is a valid
7w, he would have been awarded the property. Therefore on account of this 13°n we
should believe his claim that ‘I bought it from you (and I lost the original valid qow)’."

MDOIN answers:
52797 292 Prx 521 v°m — and the 2''2°9 answered —

3o J399R K97 — that we do not apply the rulings of a 3% —

[*nptrn] Jn ROXITD — to extract monies [from its presumptive owner]’;
Ypapa prmn R Y — and the fact that the wwi Hva is in possession of
the property —

2792 19K — is meaningless; the "vwn Yv2 is not the prm —

Rnvp 7hwa npna ypapT — for land is presumed to be in the possession of
its original owner -

TP KDY W W PRY 1190 — since he has neither a valid "vw nor a 1P —
Nnbya 297272 X¥N — but rather merely words that support his contention —

"9 197 RV XL IR — for he says I had a valid “ww -

©929°RY — and it was lost. Words alone without a 711 or a 20w do not entitle anyone
to be considered a p1mn in property. Therefore since the 0w %¥2 is not the prmn; but

" moon is (seemingly) merely repeating s'727 argument; indicating that 401 21 did not properly address the
2’1 argument. N1DOIN however, does not explicitly state that 701 27 is not responding to 2"¥1 ,727.

> See 127 M.

? The reason is that in order to extract money from the owner it is necessary to be certain that the monies
are due. A 1°n cannot offer this degree of certainty; only two 0°7¥ can.
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rather the 7yyn is the P17 in this case, for he is certainly the X»p X7, we cannot apply
the W principle here®.

mooIn anticipates the possible question that in any monetary argument someone is losing
money; every 2n should be considered a ®°X17% 2. moon will clarify when a wn is
effective.

1397 J39%R 871 — and we do not apply a »» —
TR P X9R — only to maintain money that is in one’s possession —

XY Ms® Y — that he can exempt himself from paying out monies to
creditors -

121 979 B — through a 1. This example is discussing a case where one claims that
the Wnn 9¥2 owes him money. The Wni 992 can be exempt from paying this claim
through the 13°»; since the money claimed is in his unequivocal possession.

"11 9K — or if you will, a 11 is also® effective -
STPIT IR W 9 w0 an — if one has a 2w or a 7P concerning property —

N»R" Pe8h X2 71 — and this Ty vn comes to invalidate his proof; by
claiming, for instance, that the third party seller never owned this property -

WO 9T Y 1P 91 71 IR — then this prmn can substantiate his claim
through a wn» -

7157 7137 9797 P M3 — as in the case where the P> claims concerning his
seller that ‘he bought it from you in my presence’ he is believed with a —

TR SYa 5R7 1A% — 139» for he could have claimed -

7RI I 7PN9aRY o2t 739 — ‘I bought it from you and I consumed its

produce for the three 7Pt years’.® In this case the ownership of the field is being
contested7; nevertheless since he has a 7P, the 1 allows him to retain the field on the
basis of the npi. However a 1°n does not have the power to enable someone to extract
money or property that is in someone else’s possession.

mooIn is not satisfied with this explanation of the 2"2.

P 19279 8" PRY — however the "9 is not satisfied with this explanation
that 701 21 is discounting the 13 since it is a R*¥177 W1 —

R37772 997 NP wapn K97H — since 101" 21 does not explicitly® express this
reason of X>x17% 13°»; but rather A0 21 claims that Xn%y2 Xo0M XYW X7, this —

* 721 may be of the opinion that since this is a P>nw *y2 *X7 1, it is more effective than a regular 13 and
can be utilized even 11m7 X°X¥177. See 1 1"7 8,2 n"2 Moo, See footnote # 8.

> moon will offer another example where 137 is effective even in a case where his presumptive ownership
is not as verifiable as in the aforementioned case concerning his money

® It seems evident from this MooIN that the claim of *7°7 P 7 RIATT RN1AT R*1997 is not believed on its
own merits; only on account of the 13 of X121 . See X7 7"7 8,7 '0In.

"1t is not that clear who is the P11 in this case; whether it is the 111 (who lived there for three years) or
the v yn (who is the &»p X1). Nonetheless since the 7v7yn is not a definite P1mn, the 131 is effective.

¥ Some commentaries maintain that according to the 0"2, the dispute between 701 271 7121 is whether this
is considered a X°¥1737 W or not. 727 maintains that it is not a X°%177% 13 since the p>1nn initially presented a
7uw which would have given him possession of the property. 101° 27 replied that we cannot consider him a
P17 on account of a 7> n "ww. This would seemingly answer the s""7 objection. However the > argues
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R177 9577 2R IRYT ynrwn — indicates that it is not because of this explanation
of X°X¥177% 13°n, that 701’ 21 dismisses the wn.
mooin offers a different explanation —

?r3° 13929% 781 — and the 5" is of the opinion —

N7 1397 19K K97 nOY 207 XAywT — that the reason 19 21 maintains that
we do not invoke here the rules of 1%, is that —

A9 57 199 997 3190 — since here the P11 would have no % —

79N PR 19 a8 K98 — unless he initially lied;

7onn Apw® T — for it was necessary for him to initially lie —

R0 871 29 — and to claim ‘and here is the 9vR’. The only way the P
has a 13°n is because he clearly lied initially when he said '®70w &m'. The »n is that he
could have kept up this lie. We cannot base a 32 on a lie’. In a regular case of 1n (for
instance 10IX17 13°12 °n711) the original claim (°n7177) is not known to be either a truth or
a lie. Its truthfulness is established through the power of a 1. In our case however, we
begin initially with a blatant self confessed lie on behalf of the wn7 5v2. A 2Wn is not
effective under these circumstances'.

Mmoo offers another explanation why there is no effective 13 here:

"»1 98 — or if you will we may also state —

9% K27 MR KD 9577 awn — that the reason we do not employ here a
R, is -

I T 7T 2 — because he is retracting his original claim

NLR XM PYY R9pownT — for initially he claimed ‘and here is the 2uvw’. He
based his proof of ownership on the (false) 0w

12 977 7Y — and now he is retracting this claim -
N7 Rabya Xoon7 177 — and he admits that the q0W is a XabYa Xpon

5 9977 XOHYR RIWW K9KX — but rather his new claim is that I had a valid ww.
A person may not change his arguments in 7"°2, when the latter argument contradicts the
former, as in this case''. Previously he stated ‘this is the 7vw’; subsequently he admits
that it is not a valid "vw; but rather I had another vw.

Summary
mvoIn offers three interpretations why a 131 is ineffective here:

1. Tt is a X°¥177 won. 2. It is a wn that is prefaced by a lie. 3. He is a 1101 .

that if the basis of s'101° 21 objection is that it is a X*¥17% 2», he should have stated that ‘explicitly’ (in
addition to perhaps also explaining why it is considered a ¥°¥177 11 on account of the 71 q0w).

? According to the > this is what 791° 27 meant when he said X70W XX 1210 *XnX; the basis of the %7 is
the (false) qvw that the »>1n introduced originally. However this quw is a X122 Xo0m, and we cannot base a
121 on a lie.

19 A popular explanation is that the purported purpose of a 131 is to prove the honesty of this individual.
However, here the 13171 5v2 is showing that he is not honest.

" o1 21 is saying that originally you depended on this Tbw (X7bw XX N210 *X1K); however now you can
no longer depend on this "W (since it is a X17¥2 xo0m). You can therefore not accept any conflicting claims
(even with a 1°»), since it is considered to be a 1101 MM, See WK QWA NXIPH NVW.
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Thinking it over
According to the *"1, what are the reasons that 727 disagrees with o1 277
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